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Perhaps it is written by Shabbos, where by an animal itself, etc.

Overview

The X773 1s challenging the 7°2111 °27 X1, how do we know that the 105 of 7772 7197
maowe s discussing a weekday (and therefore he is 211, whether it was awa or
71132),! perhaps the p10o is discussing where he killed the 7272 on naw, and it must
be discussing only aw, for 7122 he will be Mwd from paying since 712772 7°2 op
7.2 Our Mmoon clarifies this question.

n1voIN asks:
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And if you will say; if indeed it is so (that 7am%w° 7am2 157 is discussing naw), why
is the wps? necessary?!

N190IN answers:
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And one can say that the w17 comes to teach that there is no difference regarding
the wound whether it was caused by a downward motion or whether by an
upwards motion, where it is not applicable to distinguish between them
regarding naw.

Summary
The wpn could teach us that there is no difference between 77> 7771 7%y 777, by

nnY> 078 7197, just as there is no difference by 7an%w» 7an2 157,

Thinking it over
Why would one think that there should be a difference between 7»°%¥ 717 and 717
77" by 07X 121, any more than by 7n72 710n (that is should require a wp17)?!

"' The wp>n to o78 7197 will teach us that »"2%p is always applicable 72 P2 awa pa.

2 In which case 13w a2 non (alone) will teach us that Panw NN "2»n are Pm>wna 20!

3 The 7N writes (in 83,73 [M2X] R7p>Y) that N1 OTR 791 7195w 7102 7919); somehow comparing DX 7797 to 773 797,
If we assume that 7772 791 means even 2172 and he has to pay 7°m2 121 A2 12, we understand the wpsrn that by 7on
a7x there is also no difference between 711 2w (regarding n"2%p; that he is always exempt from payment); however,
if inna non is (only) on naw (and »"2%p is only by 7°11) what is the point of the wpi?!

4 Just as by 7nma 7on he always has to pay when he damaged the 7n72 (on naw) regardless whether it was 799 777 or 77
177; the same is by nn1> 27X 791 he is n°n 21 regardless whether it was 7299 797 or 77°7 777 (not like it is by aw).
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